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56-008 Ta—R TIT7A ~ATUYR| FH DLA-CR5 1,993 (cc) IV B 2,015 et H21#8

158

56-010 TFU—R i=¢7] SPG-FSR90S2 5,193 3] 9,965 Xy 74— H2 14
56-010 TFU—R i=¢7] SPG-FSR90S2 5,193 L] 10,025  ~ 10,620 Xy A —N H2 118
56-011 TFU—R i=¢7] SPG-FSR90T2 5,193 9 10,150  ~ 10,760 Xy A —N H2 118
56-012 747 —K L7/ TKG-FRR90S1 5,193 i 7,550 ~ 7,900 Xy 74— H21#E
56-013 747 —K L7/ TKG-FRR90S2 5,193 B 7,530 ~ 7,900 Xy 74— H21#E
56-014 TFU—R 5% | TKG-FRR90T2 5,193 I 7,530 ~ 7,900 Xy 74— H2 118
56-015 TAT—R L7/ SKG-FSR90S2 5,193 i 9,710 ~ 9,990 Xx 74— H21#E
56-015 T FU—R 154 SKG-FSR90S2 5,193 L 10,025  ~ 10,845 Xy 7 A= H2 118
56-016 TFU—R L7 SKG-FSR90T2 5,193 I 10,120  ~ 10,760 Xy 7 A= H2 118
56-017 T FU—R 5% | LKG-FTR90S2 5,193 I 12,185  ~ 13,800 Xy 7 A= H2 118
56-018 TFU—R &% | LKG-FTR90T2 5,193 I 12,195  ~ 13,820 Xy 7 A= H2 118
56-019 T FU—R 5% | QKG-FTR34S2 7,790 LS| 12,435  ~ 13,815 Xy 74— H2 118
56-020 TFU—R 5% | QKG-FTR34T2 7,790 B9 12,395  ~ 13,820 Xy 74— H2 148
56-021 TFU—R 5% | QKG-FTS34S2 7,790 B9 13,190  ~ 13,545 Xy 74— H2 148
56-022 TFU—R 5% | QKG-FVR34U2 7,790 B9 14,485  ~ 15,170 Xy 74— H2 148
56-055 )7 5% | TKG-ASZ1F24 2,953 B 3,505 ~ 3,565 Xy 74— H2 118
56-055 L7 =L TKG-ASZ1F24 2,953 B 3,515 ~ 3,545 Xy 74— H2 148
56-056 oy 54 | TKG-ASZ2F24 2,953 B 3,510 ~ 3,635 Xy 7 A= H2 14E
56-056 L7 =L TKG-ASZ2F24 2,953 B 3,520 ~ 3,645 Xy 74— H2 148
H P [ B B(HR) EAPALEY
56-057 ThIA i=¢7] TKG-SZ1F24 2,953 i 3,505 ~ 3,565 Xy 7 A —N H2 1
56-057 TRITA =t/ TKG-SZ1F24 2,953 L3l 3,515 ~ 3,545 S P H2 14
56-058 ThIA i=¢7] TKG-SZ2F24 2,953 i 3,510 ~ 3,635 Xy A —N H2 1
56-058 7RI A =t/ TKG-SZ2F24 2,953 L3l 3,520 ~ 3,645 S P H2 118
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56-074 =a N 15 TKG-USZ1F24 2,953 S| 3,505 ~ 3,565 Xy T A — H2 148
56-074 a KL =27 TKG-USZ1F24 2,953 H2X 3,515 ~ 3,545 Xy T F— H21{E
56-075 =a N 15 TKG-USZ2F24 2,953 S| 3,510 ~ 3,635 Xy A — H2 148
56-075 a KL =) TKG-USZ2F24 2,953 H2X 3,520 ~ 3,645 Xy T F— H21{E
ZFESTINT T XRAR o

56-096 STIFX LA — 5% | TKG-BSZ1F24 2,953 LS 3,505 ~ 3,565 Xy 7 A= H2 118
56-096 SEIF XL — g4 | TKG-BSZ1F24 2,953 L3 3,515 ~ 3,545 Xy 7 A= H2 1
56-097 SEIFY S — =7 TKG-BSZ2F24 2,953 B 3,510 ~ 3,635 Xy 74— H2 14
56-097 SEIFY L — g4 | TKG-BSZ2F24 2,953 L3 3,520 ~ 3,645 Xy 74— H2 14
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